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Q.1. Simplify:
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Q.2. Find three rational numbers between
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Q.3. If the product of two rational numbers is ;— and one of them is — 7 find the other.
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Q.4. What number should be added to —to get — > |

Q.5. 7 times the reciprocal of a number plus 2/3 is 3. Find the number,

(1.6. The additive inverse of a number divided by 12 is the same as one less than three times its
reciprocal. Find the number,



a7.¥#lf p = -%,q = g—,r = ﬂ%,verify the following:
ap+(@tr)=@+q+7

bp*xq=4qg*p

gp*(g+r)=@*q) + {7
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().8.Represent the following numbers on number line ;
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Verv short answer type Questions

Q.9. What is the sum of a rational number and its additive inverse?

Q.10. Multiplication of a non-zero rational number and its reciprocal is
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0.13. Reciprocal of a negative numberis _
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Q.15. Name the property illustrated through each of them:
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Q.16. State whether following statement are True or False:
a) Every integer is a rational number.

b) Zero has its multiplicative inverse .

¢) Division of two rational numbers is always closed .

d) Rational numbers are associative under subtraction ,
e) Rational numbers are closed under subtraction ,

f) Zero is the identity for addition of rational numbers ,
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Q.5.'3' Q9.0 Q.10.1 Q11.0 Q.12.Notdefined Q.13.negative

Q.14.1  (Q.15.a) Commutative property b) Distributive property
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c) Assaciative property  d) Closure property ¢) Commutative property

Q.16.a) True b)False ¢)False d)False e)True f)True






